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2 Hybrid ey shape, purchred oundpants

3 Purcbeed roundpants, heerozy gous long pose

SpongeBob's aunt, who is a roundpants, has a cu subb nose. St has finally found he sponge of her
dreams and is ready to setle down. Hes fancé always comments on how adorable er e 1s (b says it
reminds him of bis mother’s - aw, how sweet). They wonder what the chances ae of that rai being
passed on. Her fancé s  purcbred squarcpants and has purcbred long nose.

4 Idenify the genotypes of the aunt and her fancé

Aunt— Roundpants, Subby Nose

Fiancé - Purcheed Squarepants, Long Nose =

. What e the possini gamete combinations for cach person? Aunt-

6. Wha e the possine genotypes for thie children?.

7. What are the genotypes of SpongeBob, who is heterorygous fo his yellow body color and his
squarcpant, and his wife SpongeSusie, wheois bl and has roundpants?

SpongsBob— SpongeSusi
8 What e the possibi game combinationsfo achperson”
SpongsBob— SpongeSusi
9. Complee the Punnct square based o e nformation providedin#7-8 nd then amswer the uestons.

What i the chance of a blue baby?
What i the chance ofa quarspants?

What i the chance of a blue squsrpants?

Whatis the chance of a purcbred rcessive fo both trats?
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10.In starfsh, pnk body color () is dominant 10 orane (p), an thik eyehrows (T) are dominant over
thin () ones. Patick, who i heterozygous or by color but pursbred for thick ychrows, has met Pat,
whois recesive for both st

Whatis Pa's phenotype?

It possble fo the new couple t have offspeing that reserble e motber? Explain.

11, Befors Parick commits (0 this elationship, he would ik (0 guaranice that is offspring would have.
i thickeyebrows. (He tinks thy male him smartr!) You ned 1o provide evidence for o aganst the
marriage. This question regards cychrows ONLY.

12. Wrike Squidward's family boasts about being a purcbred line for dominant
gt blus skin color, thy are also purcbred for 8 s disinguished it the
recessive tait of baldness.  Lack of hair caues Squidward some self cseem
{ssuestht he docs not want ischildren o face. e would ke o cnsure that his

offepeing have hair AND with hisblue skin color. Wt rsits should e look for |t = . Bald =1,

nabride?

Mast she have bair? Esplain.

Mast she b ble? Esplsin

13. Squidward b found a potental bide prospect with the green squid Octavia, While Octavia has i
e Fathcr does not. Determin th chance ofteie child eing ble snd baving hir

Squidward Octavia

14, Use the genotypes in #13 10 complte the Pusrett square below and then snswerthe guestions.

For which taits, i any, i it possibe for thir offprin to be purbred?

‘Whatis the probability of ther childen bing heterozy gous forbothtrats?
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